Nathan Heinrich
3a
10/11/10
THE ABACUS
 
Title: the abacus
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Roman system was; I=1, V=5, X 10, L=50, C=100, D=500, M=1000,
This is starting point of abacus
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[image: ]                                     	ß Crossbar
 
                                     	ß Earth
        	The column all of the way to the right is the first column. The earth beads (there are 5 of them) just stand for one each so if you bring three beads to the crossbar that stands for three, but if you also bring one heaven bead to the crossbar then that stands for five so then you would have the value 8. So you might ask how you do get more than 15 and what are all of all of those other beads for? The answer is this. The second column traveling to the left is “the tenths place” so if you have one of those earth beads up then you have ten, but if you have one of the second column up from earth, and one of the heaven beads from the first  column and one of the earth beads from the earth then you have 16.  The abacus is based on 10 computers are based on the binary system.  The meaning of binary is double, or two.  An easy way with binary is this: so let’s say you have 101001 how would you figure it out? Well this is how it is done the first digit on the right is a one, the next digit to the left is 0 this is the twos position but since there are none of these there is nothing to add so we still have 1.  The third digit is in the two-times two or four position, but this also is a zero, so we still have 1.  The fourth digit is a 1 and it occupies the two times two times two position. Three twos multiplied together equal eight so now we have nine all together.  The next one is also a 0 so we still have nine all together. The final digit on the left is a 1 it is in the position of two times two times two times two times two or five 2’s multiplied together. And that is thirty two add nine to that and you get 41 which is what 101001 is. Each number is a bit and the 0 inside of the number are just place holders. They basically just say on (1) or off (0).  If you get good enough at the abacus you could do it mentally.  Once you have used a number that you are using then you clear the board. So if you are doing 200-100 then once you are done with moving the hundredths place up and down then you would clear the board to restart with more different numbers. Division has technical terms like the larger number being divided up is called the dividend. The smaller number doing the dividing is the divisor and the result is called the quotient but humans call it the answer. The columns on the right are used for the quotient so lets say that you are about to divide twelve the divisor into fourteen since fourteen is not bigger than twelve we use the fourteen first since the number wont be bigger than one so we lift up a one in the earth column on  the second column we leave the first column open for the first digit to see how much we have left we multiply both of the numbers of the divisor then subtract the result from the first two digits of the dividend  so we have the first digit of the divisor is 1 so we move the first number back down after moving a few more beads we get two. most things in this book are great to help in math and in the binary side of things.  the author  knew what he was talking about but explained it like it was a second language to him. This is an older book that is fun and interesting to read but if you want to save time just use a calculator or your simple math skills.
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